
L’organismo	
  pluricellulare	
  necessita	
  	
  
di	
  una	
  comunicazione	
  intercellulare	
  



La	
  comunicazione	
  chimica	
  tra	
  le	
  cellule	
  

Ligando	
  
Rece6ore	
  
Trasduzione	
  del	
  segnale	
  



Il	
  rece6ore	
  e	
  la	
  specificità	
  di	
  risposta	
  

-­‐	
  Il	
  rece1ore	
  è	
  in	
  genere	
  una	
  glicoproteina	
  

-­‐	
  La	
  sua	
  a7vazione	
  si	
  basa	
  su	
  un	
  meccanismo	
  “chiave-­‐serratura”	
  
	
  	
  	
  	
  (sito	
  di	
  legame	
  specifico)	
  



La	
  localizzazione	
  del	
  rece1ore	
  è	
  funzione	
  delle	
  
	
  proprietà	
  chimico	
  fisiche	
  del	
  segnale	
  extracellulare	
  (ligando)	
  



I	
  Api	
  di	
  rece1ori	
  	
  



Se	
  il	
  segnale	
  extracellulare	
  (o	
  ligando)	
  è	
  lipofilo	
  
i	
  rece6ori	
  sono	
  intracellulari	
  

I	
  rece1ori	
  intracellulari	
  possono	
  essere:	
  
-­‐ 	
  citoplasma8ci	
  	
  
-­‐ 	
  nucleari	
  



I	
  domini	
  dei	
  rece1ori	
  intracellulari	
  



Il	
  target	
  dei	
  rece1ori	
  intracellulari	
  solitamente	
  è	
  il	
  DNA	
  



Il	
  complesso	
  ligando-­‐rece1ore	
  (intracellulare)	
  
riconosce	
  specifiche	
  sequenze	
  di	
  DNA	
  



Se	
  il	
  segnale	
  extracellulare	
  (o	
  ligando)	
  è	
  idrofilo	
  
i	
  rece1ori	
  sono	
  inseriA	
  nella	
  membrana	
  plasmaAca	
  

Rece6ori-­‐canale	
  
	
  
	
  
Rece6ori	
  accoppia8	
  	
  
	
  	
  	
  	
  a	
  proteine	
  G	
  
	
  
	
  
Rece6ori	
  con	
  	
  
a;vità	
  enzima8ca	
  



I	
  rece6ori-­‐canale:	
  
sono	
  responsabili	
  di	
  una	
  risposta	
  cellulare	
  rapida	
  determinata	
  

da	
  una	
  variazione	
  del	
  potenziale	
  di	
  membrana	
  



I	
  rece1ori	
  con	
  a7vità	
  enzimaAca:	
  
i	
  rece6ori	
  8rosina	
  chinasi	
  



Esempio	
  di	
  rece1ori	
  ad	
  a7vità	
  Arosinchinasica:	
  
i	
  rece1ori	
  per	
  i	
  fa1ori	
  di	
  crescita	
  



La	
  cascata	
  	
  
di	
  reazioni	
  
a7vata	
  dai	
  
fa1ori	
  di	
  crescita	
  



I	
  	
  ligandi	
  per	
  i	
  rece1ori	
  ad	
  a7vità	
  Arosin-­‐chinasica	
  



I	
  rece6ori	
  accoppia8	
  a	
  proteine	
  G	
  



Gli	
  elemenA	
  cara1erizzanA	
  	
  
la	
  trasduzione	
  via	
  rece1ori	
  accoppiaA	
  a	
  proteine	
  G	
  



L’effe1ore	
  è	
  un	
  canale	
  ionico	
  



L’effe1ore	
  è	
  un	
  enzima	
  



I	
  secondi	
  messaggeri	
  



La	
  sintesi	
  dell’AMPc	
  



Risposte	
  indo1e	
  dall’AMPc	
  



Esempio	
  di	
  trasduzione	
  del	
  segnale	
  controllato	
  
dall’AMPc:	
  la	
  noradrenalina	
  



La	
  sintesi	
  dell’IP3	
  





La	
  sintesi	
  
dell’acido	
  arachidonico	
  



Il	
  secondo	
  messaggero	
  a7va	
  le	
  protein	
  chinasi	
  

Fosforilazione	
  
	
  

strategia	
  “universale”	
  	
  
di	
  a7vazione	
  cellulare	
  	
  



Il	
  vantaggio	
  della	
  cascata	
  a7vata	
  da	
  secondi	
  messaggeri	
  

L’amplificazione	
  del	
  segnale	
  



Le	
  proteine	
  G	
  possono	
  essere	
  anche	
  inibitorie:	
  	
  
il	
  caso	
  dei	
  rece1ori	
  per	
  l’adenosina	
  



La	
  trasduzione	
  del	
  segnale	
  

Risposta	
  della	
  cellula	
  a	
  sAmoli	
  esterni	
  (o	
  
messaggeri	
  chimici	
  ad	
  esempio	
  fa1ori	
  di	
  
crescita,	
  ormoni,	
  neurotrasme7tori	
  etc)	
  

generata	
  da	
  processi	
  biochimici	
  ben	
  definiA	
  	
  

Es.	
  Proliferazione,	
  differenziamento,	
  contrazione	
  muscolare,	
  
modificazione	
  ele1rica	
  dei	
  conta7	
  sinapAci,	
  alterazioni	
  metaboliche	
  



Da	
  cosa	
  dipende	
  la	
  specificità	
  della	
  
risposta	
  cellulare?	
  

…	
  dall’interazione	
  del	
  messaggero	
  con	
  l’apparato	
  
di	
   ricezione	
   della	
   cellula	
   bersaglio,	
   cosAtuto	
   da	
  
un	
  RECETTORE	
  specifico	
  e	
  da	
  un	
  pool	
  biochimico	
  
le	
  cui	
  componenA	
  sono	
  localizzate	
  in	
  siA	
  cellulari	
  
diversi.	
  


